

845 West FM 407 Argyle, TX 76226

Date	10/14/2019
Estimata	George Severe
Estimate	george@defendersupply.com
Ву	(903) 564-5641



	Bill To
Williamson Co TX SO	
Micah Koite	
710 S Main Street Ste 301	
Georgetown, Tx 78626	
512-943-3368	

<b>Customer Contact</b>	Micah Koite	
<b>Customer Phone</b>	512-943-3373	
Customer E-mail	micah.koite@wilco	
Estimate #	26578	

#### 2019 Dodge Charger AWD V8

Vehicle Base Color - Black

Description	Location	Qty.	Cost	Total
All parts are for a 2019 Dodge Charger Pursuit Vehicle, AWD 5.7L HEMI V8 Engine,				
Unmarked Unit				
Vin#'s				
Customer PO # - Payment to be made to Defender Supply				
Bill to: Williamson County Attn: Peggy Braun 508 S. Rock St. Georgetown, TX 78626 512-943-1100				
Unit #s -				
Emergency Equipment is Purchased Through Defender Supply using The Tarrant County Cooperative Contract # 2019-181				
See Customer Supplied Pictures & Video				
Whelen PAR-46 Super LED Spot Light Bulb		1	162.36	162.36
Dodge Charger vehicle-specific visor lighting package w/ takedowns Federal Signal Pathfinder Siren Controller		1	998.00 548.90	998.00 548.90
Federal Signal ES100 Behind the Grille Speaker		1	174.32	174.32
Federal Signal ES100 Speaker Bracket, Universal Bail		1	23.32	23.32
Federal Signal Low Frequency Rumbler Siren System		1	407.52	407.52
Federal Signal Rumbler Bracket for 2017 Charger		1	26.95	26.95
Fed Signal Push bumper 2019 Dodge Charger		1	294.35	294.35
Fed Signal Push Bumper 4 Light Top Channel		4	19.0825	76.33
Federal Signal Micropulse 620 Ultra Surface Mount - 12LED Lighthead Dual Color Red/White - Make Whites Do Take Downs		2	90.015	180.03
Federal Signal Micropulse 620 Ultra Surface Mount - 12LED Lighthead Dual Color Blue/White - Make Whites Do Take Downs		2	90.015	180.03

Final sale amount may be subject to state and local sales tax. PLEASE NOTE: Once this estimate has been approved, either by signature on this form, written approval referencing the estimate number or the issuance of purchase order, any changes or cancellations of parts made by the customer are subject to a 25% restocking fee. Any additional customer-requested parts/services will be added to the total amount of the sale.

**Vehicle and Emergency Equipment Total** 

Quantity Ordered 2

Total Vehicle Order Cost \$25,772.66

Page 1



845 West FM 407 Argyle, TX 76226

Date	10/14/2019
Estimata	George Severe
Estimate	george@defendersupply.com
Ву	(903) 564-5641



	Bill To
Williamson Co TX SO	
Micah Koite	
710 S Main Street Ste 301	
Georgetown, Tx 78626	
512-943-3368	

<b>Customer Contact</b>	Micah Koite		
<b>Customer Phone</b>	512-943-3373		
Customer E-mail	micah.koite@wilco		
Estimate #	26578		

#### 2019 Dodge Charger AWD V8

Vehicle Base Color - Black

Description	Location	Qty.	Cost	Total
Federal Signal - Dual Color and with 6 LEDs Corner Lights with In-Line Flasher in Red/Blue - Mounted on Top Sides of Push Bumper - See Customer Supplied Pictures & Video		2	58.75	117.50
Federal Signal Taillight Flasher - Tech make Headlights Flash please		1	44.00	44.00
Federal Signal XStream Interior Mount Warning Light, Dual Head model with wire lead, Tri-Color-Blue/Red/White - Mounted on Top of the Rear Door Panels Firing to the Sides of the Vehicle		2	121.00	242.00
Federal Signal Micropulse 620 Ultra - 12LED Lighthead Dual Color Red/Blue - Mounted on Front & Rear Fenders on both sides like in Customer Supplied Video		4	89.475	357.90
Federal Signal Micropulse 620 - 12LED Lighthead Dual Color Red/Blue - Mounted on Each Side of Rear License Plate Mounted to Body - Up & Down - Vertical		2	89.475	178.95
Federal Signal Micropulse 620 - 12LED Lighthead Dual Color Red/Blue - Mounted Inside Trunk Lid to Come on When Trunk is Opened		2	89.475	178.95
Federal Signal in the Rear Deck/Widow mount Spectralux Dual Color Red/Amber & Blue/Amber Signal Master for 2017+ Dodge Charger		1	643.50	643.50
Havis Console, Dodge Charger		1	339.93	339.93
Havis 8.5" Heavy Duty Telescoping Pole, Side Mount, Short Handle		1	118.44	118.44
Havis 1.1" Slide Out Locking Swing Arm with Low Profile Motion Device Adapter		1	220.68	220.68
Havis Arm Rest - Side Mount		1	44.32	44.32
Havis Docking Station for Panasonic Toughbook 33, 2 in 1 Laptop with Power Supply. Ultra-rugged, lightweight, flexible docking solution.		1	956.54	956.54
Streemlight CL 201 LED Fleehlight Mounted on Cide of Concells		1	110.12	110.12
Streamlight SL-20L LED Flashlight - Mounted on SIde of Console Stinger DS LED - 12V DC Steady Charge - Mounted on SIde of		1	110.12 98.09	110.12 98.09
Console		-		
3 Additional 12Volt DC Heavy Duty Electrical Power Socket w/moisture cover - Mounted on Right Side of Console		3	6.00	18.00
Motorola 13-Watt Police Radio Speaker with Mounting Bracket		1	79.95	79.95

Final sale amount may be subject to state and local sales tax. PLEASE NOTE: Once this estimate has been approved, either by signature on this form, written approval referencing the estimate number or the issuance of purchase order, any changes or cancellations of parts made by the customer are subject to a 25% restocking fee. Any additional customer-requested parts/services will be added to the total amount of the sale.

Vehicle and Emergency Equipment Total

Quantity Ordered 2

Total Vehicle Order Cost \$25,772.66

Page 2



845 West FM 407 Argyle, TX 76226

Date	10/14/2019
Estimate	George Severe
<b>Estimate</b>	george@defendersupply.com
Ву	(903) 564-5641



	Bill To
Williamson Co TX SO	
Micah Koite	
710 S Main Street Ste 301	
Georgetown, Tx 78626	
512-943-3368	

<b>Customer Contact</b>	Micah Koite		
<b>Customer Phone</b>	512-943-3373		
Customer E-mail	micah.koite@wilco		
Estimate #	26578		

#### 2019 Dodge Charger AWD V8

Vehicle Base Color - Black

Description	Location	Qty.	Cost	Total
Make & Model of Customer Supplied Laptop - Panasonic CF-31 Does the of Customer Supplied Laptop have Docking Capabilities - Yes Is the of Customer Supplied Laptop a No RF, Single RF or Dual RF - Dual RF with External power supply Does the of Customer Supplied Laptop have a built-in power supply - Wire for power please.				
Make & Model of Customer Supplied Police Radio - Motorola APX7500/DB/Dash Mount O5 Control head - Customer to Install, Please Pre-Wire for One Piece Radios Does the Customer Supplied Police Radio need to be "Hot", Powered all the time or on Ignition - On Ignition Is Customer Supplied Police Radio a One or Two Piece Unit - One Piece What is the Frequency of Customer Supplied Police Radio - 800Mhz				
Two Way 800 MHZ Radio Antenna & Coax Cable - Trunk Mount (Mounted on Trunk Lid on Left SIde like Customer Supplied Video shows)		1	30.67	30.67
Two Way VHF Radio Antenna & Coax Cable - Trunk Mount (Mounted on Trunk Lid on Right SIde like Customer Supplied Video shows)		1	23.00	23.00
800 MHZ & VHF (trunk lid mount) Bluetooth Antenna (pass. side dash or pass. side windshield sticky mount) WiFi Antenna (trunk lid mount - Center of Trunk)				
Freestanding Dual T-Rail gun lock for a Dodge Charger.				467.73
Compartment Light, Split Red/White - Mounted in Trunk Area with On/Off Switch		2	47.395	94.79
Window Tint - All Windows - 4 Door Sedan - 20% Window Tint		1	195.95	195.95
Misc. Shop Supplies		1	30.00	30.00
Shipping of Above Emergency Parts for Upfit		1	140.00	140.00
Defender Supply Wiring Harness, Power Distribution Block and Battery Management System		1	437.11	437.11

Final sale amount may be subject to state and local sales tax. PLEASE NOTE: Once this estimate has been approved, either by signature on this form, written approval referencing the estimate number or the issuance of purchase order, any changes or cancellations of parts made by the customer are subject to a 25% restocking fee. Any additional customer-requested parts/services will be added to the total amount of the sale.

Vehicle and Emergency Equipment Total

Quantity Ordered 2

Total Vehicle Order Cost \$25,772.66

Page 3



845 West FM 407 Argyle, TX 76226

Date	10/14/2019	
Estimata	George Severe	
Estimate By	george@defendersupply.com	
	(903) 564-5641	



	Bill To
Williamson Co TX SO	
Micah Koite	
710 S Main Street Ste 301	
Georgetown, Tx 78626	
512-943-3368	

<b>Customer Contact</b>	Micah Koite		
<b>Customer Phone</b>	512-943-3373		
Customer E-mail	micah.koite@wilco		
Estimate #	26578		

### 2019 Dodge Charger AWD V8

Vehicle Base Color - Black

Description	Location	Qty.	Cost	Total
Installation of Above Emergency Equipment and Customer Supplied:  Panasonic Arbitrator 360 video system Multi Purpose GPS Cradlepoint Antenna -(Mounted on Trunk Lid on Right SIde like Customer Supplied Video shows)  Customer will install their own radio & speaker, please run Power, Ground & Antenna Wiring to Console  Tech: Please see the Trigger Mapping Doc loaded in Quick Books.  For Customer Supplied Parts, Tech Support or Panasonic Camera Assistance contact:  Chris Ball  Critical Systems Analyst I  Williamson County  Direct: 512-943-1934  Email: cball@wilco.org		44	99.91136	4,396.10
Customer is doing their own Graphics.				
Delivery to Department		1	250.00	250.00
Ship to: Fleet Maintenance 3151 SE Inner Loop-Suite B 508 South Rock Street Georgetown, TX 78626 512-943-3368				
,	hiologand Frage		at Tatal	<b>*</b> 40.000.00

Final sale amount may be subject to state and local sales tax. PLEASE NOTE: Once this estimate has been approved, either by signature on this form, written approval referencing the estimate number or the issuance of purchase order, any changes or cancellations of parts made by the customer are subject to a 25% restocking fee. Any additional customer-requested parts/services will be added to the total amount of the sale.

<b>Vehicle and Emergency Equipment Total</b>	\$12,886.33
Quantity Ordered	

Total Vehicle Order Cost \$25,772.66

Page 4

SIGNATURE